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Best Practices in Math:
Modeling, Practice, and Word Problems



Research and Information

What are your strengths?

What are your opportunities for growth?

What are your immediate next steps?

Explicit Instruction



MODELING PRACTICE

SUPPORTS

Explicit Instruction



Explicit Instruction



Word-Problem Solving

Research and Information



SSOOLLVVEE

SSttuuddyy  tthhee  pprroobblleemm..
OOrrggaanniizzee  tthhee  ffaaccttss.
LLiinnee  uupp  tthhee  ppllaann..
VVeerriiffyy  tthhee  ppllaann  wwiitthh  ccoommppuuttaattiioonn..
EExxaammiinnee  tthhee  aannsswweerr..

RR--CCUUBBEESS

RRead the problem.
CCircle key numbers.
UUnderline the question.
BBox action words.
EEvaluate steps.
SSolve and check.

Word-Problem Solving
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